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s 1.00 | 000 ~ 743 94.80 | =nS | 000 ~ 743 | 2.05 10.97 Thlst 1.00 | .00 ~ 10.00 94.80 | =4t | 6.00 ~ 1000 2.056 10.97
2 100kN/ M#%#8 2 % — - ~ — — |3mEBRB| — ~ — — — | 100kN/m%#B 2% — - ~ — — |3mFBZ B - ~ — — —
ZhLst 1.00 | 000 ~ 749 95.66 | Tns | 000 ~ 7.49| 2.08 11.13 st 1.00 | .00 ~ 10.00 95.66 | =nLs | .00 ~ 1000) 2.08 11.13
3 100kN/m%Z#Bz25| 1.00 | 000 ~ 042 106.16 |3m&EBzZB| — ~ — — — | 100kN/m%#8z25% | 1.00 | 1064 ~ 11.85| 106.16 |3m%EiBZ% - ~ — — —
ZhLst 1.00 | 042 ~ 820 100.00 | #hst | 000 ~ 820 2.11 11.52 Zhst 1.00 | .00 ~ 10.64 100.00 | #ns | 6,00 ~ 1185 2.11 11.32
4 100kN/m%Z#z25 | 1.00 | 000 ~ 095 11421 |3m&EBZB| — ~ — — — | 100kN/m%#z25 | 1.00 | 1080 ~ 1397 114.21 |3m%EiBZ3 - ~ — — —
s 1.00 1095 ~ 873 100.00 | #nlst | 000 ~ 873 208 11.13 st 1.00 | .00 ~ 1080 100.00 | =hLst | 6.00 ~ 1397 2.08 11.13
5 100kN/MZ#z25 | 1.00 | 000 ~ 210| 13255 |3m&EEzZE| — ~ — — — | 100kN/m%#8z25% | .00 | 1067 ~ 19.77| 132565 |3mZE#ZD - ~ — — —
s 1.00 | 210 ~ 9.89 100.00 | #nllst | 000 ~ 989 | 2.29 12.25 st 1.00 | 600 ~ 1067 100.00 | =nLst | 6.00 ~ 19.77| 2.29 12.25
P 100kN/m%Z#Bz25 | 1.00 | 000 ~ 236| 156.77 |3m&EBzZB| — ~ — — — | 100kN/mi%#825 | .00 | 1060 ~ 2000 136.77 |3mE#Z% - ~ — — —
ZhLst 1.00 | 236 ~ 1014 100.00 | =5t | 000 ~ 1014 2.78 14.90 st 1.00 | .00 ~ 10.60 100.00 | #ndst | 65,00 ~ 2000| 2.78 14.90
7 100kN/m%Z#z25| 1.00 | 000 ~ 112| 11695 |3m&EBzZB| — ~ — — — | 100kN/mi%#825 | .00 | 1056 ~ 1399 116.95 |3mE#z5% - ~ — — —
ZhLst 1.00 | 112 ~ 891 100.00 | #hst | 0.00 ~ 891 | 223 11.91 NSt 1.00 | .00 ~ 1056 100.00 | #nst | 65,00 ~ 1399 2.23 11.91
8 100kN/M%#2Z % — - ~ — — |3mEBZDH| — ~ — — — | 100kN/ Mm%z 5 — - ~ — — |3m#%FHBZ 5 - ~ — — —
ThList 1.00 | 000 ~ 730 92.94 | =nst | 000 ~ 730\ 1.75 9.39 Fhst 1.00 ]| 500 ~ 9.35 92.94 | TS | 6,00 ~ 9.35| 1.76 9.39
9 100kN/MZ#2Z % — - ~ — — |3mEBZDH| — ~ — — — | 100kN/ Mm% 25 — - ~ — — |3m%FBZ 5 - ~ — — —
ThLst 1.00 | 0.00 ~ 4.77 59.41 | =nst | 000 ~ 4.77| 1.76 9.40 FhLst 1.00 | .00 ~ 56.00 59.41 | =hs | 6,00 ~ 56.00| 1.76 940
100kN/M%#22 % ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEBAD ~
Thilst ~ ZnList ~ ZnList ~ TN ~
100kN/MZ#2Z % ~ 3mEHEAD ~ 100kN/ Mm% 25 ~ ImEBAD ~
zhsn ~ ZhLst ~ ZnLst ~ Zhus ~
100kN/MZ#2Z % ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEBZD ~
zhsn ~ ZhLst ~ znLst ~ Zhus ~
100kN/MZ#2Z % ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEBAD ~
zhsn ~ ZhLst ~ ZznLst ~ Zhus ~
100kN/M%#22 % ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImEBZD ~
Thilst ~ ZnList ~ TnList ~ TNt ~
100kN/M%#2Z % ~ 3mEHEAD ~ 100kN/mM%E# 25 ~ ImEBAD ~
Zzhsn ~ ZhLst ~ ZnLst ~ Zzhus ~




